1)

2)

3)

4)

5)

6)

7)

8)

A oS, o, o\
Falchse fahed g @rellel aTey E[U‘r .

a) GTSRT AT Shell YoITHATR TeeT
b) TSI f&aT ATSRT el el
c) el Il FaTHdTeh el TroRT
d) TSI AT f&eT ATSRT hell el

@rell A, B, C,D 32t IR arerd el 3gd Tiede doIduIrardy a1 arergran
AThA TATET.

A - Tde AT 3Tl JTehIRIT el

B- UgI¢ Hell Ush HeI T TSl

C- I Hell Ush FeX T el

D- @9 & g oy arfgen.

a) BCAD b) BACD 0 BCDA d) ABCD

SATHATT YR 3NBWT - TG
a) fawaTsT b) ATATIATH
C) HIAdIdeh oITH d) HHgdTIeh 1A

Tellel dIFdTd $RUITATST Y 2leg TIqsr.
---------------- A o FAT dd =Telddr.

a) o b) 3TTFT o) ar d) JFT
AT
a) AN b) FRT SRGLELRS d) AR

ddd dqell - g'wll

a) T b) F o) T d) AT

Grellel dTeFd R AN fJmaTelel 317 , cATHRT Teh $IET Fehram 3HTe Tehrel a7
Mt A fasT .

3R / gAY / gt /| agia forgr.
1 2 3 4
a) 1 b) 2 c) 3 d) 4

Fill in the blanks with suitable article from the options given below.

We have got our new officers near center of the city.
a)an b) the
c)a d) none of these




9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

Choose the correct adverbs from the options given below.
My father is late for work.
a) quickly b) rarely c) down d) last week

Fill in the blanks with correct prepositions choosing from the options given below.
| have worked here Ileft my earlier school.
a) for b) since c) over d) while

Fill in the blanks with the suitable conjunctions.
Do you pull the handle Push it?

a) And b) but c) or d) as

Fill in the blanks with suitable verb forms from the options given below.
The train has not yet. We'll catch it if we hurry.
a) Leaving b) going c) left d) liked

Choose the correct noun from the alternatives given below.
You can show a driving license to prove your

a) identify b) identifiable

c) identified d) identity

Fill in the blank with suitable pronoun.
| remember that bought the fruits from us.
a) they b) her c) them d) |

Choose the correct adjective from the alternative given below.
This ball pen is . It has completely dried out.
a) use b) used c) useful d) useless

8,0, 3, 6UTe IR IV IR 3{eh! Fald o= HE&AT St 5 o geur fAsrehd 3.

a) 0368 b) 3068 c) 8630 d) 3680
Find out the smallest four digit number having 8,0,3,6 and which is also divisible by 5.
a) 0368 b) 3068 c) 8630 d) 3680

Tehl FIHIRISAT 15 CaaErardT Ycdeh AT fSadrell Yo TAY AT &I0ed FHIATelT
Sael 30T IRGSNIATET 25 TIY &3 shell. SR e Tl 375 T9F fAare
3G T A HAR f&adg fhd?

a) 12 b) 10 c) 8 d) 7

A worker was appointed for 15 days for a certain work with the 50 Rs as
his wage and for the absence Rs. 25 fined. If he got Rs. 375 then how
many days did he work?

a)12 b) 10 c) 8 d) 7

cled T AUMHR 5/4 3T , SR Teh HEIT 5/6 3T R, GAA HEIT HIUTH?

a)2 b) 1/2 c) 3/2 d) 2/3

Multiplication of two numbers is 5/4. If the first number is 5/6 then
what will be the other number?

a)2 b) 1/2 c) 3/2 d) 2/3
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19)

20)

21)

22)

23)

24)

37800€T3=|@34?:|'QHW?

a) 2 x2x3x3x5x5x7x7

b) 2 x2x2x3x3x3x5x5x7
c) 8 x 27 x 25 x7

d) 2x4x25x27 x7
Find out the prime factors of 37800.
a) 2 x2x3x3x5x5x7x7

b) 2 x2x2x3x3x3x5x5x7
c) 8 x 27 x 25 x 7
d 2x4x25x27 x7

HERISE @ &hSUT :: 3THIHA @7

a) Seld b) Fdelat C) ST d) Meray
Maharashtra : Krushna :: Assam :?
a) Zelam b) satluj C) Brahmaputra d) Godavari

gl SeTHATT T&IEl OISR 14.837 . ST ANHT v g&ar 4.01 38T K
T ERIATT HEAT 10T,
a) 3.7 b) 3.07 c) 3.007 d) 37

The multiplication of two decimal numbers is 14.837. If one of that
numbers is 4.01 then what will be the second number?

a) 3.7 b) 3.07 c) 3.007 d) 37

153 x 500 oA fPAT SAATT TECdHEY Tlelleldehl HIoTdr ?
25 x 100 x 4

a) 76.50 b) 765.00 c) 7.65 d) 7650.00
Find out the value in decimal system of 153 x 500

25 x 100 x 4
a) 76.50 b) 765.00 c) 7.65 d) 7650.00

5 AT Tehl ATVI dofel 9 IUH 3TE. 3felhs 3clcdT 5 FUITAT AU
rd aot 9 fhaf 3 X ferdia fohdr aroft 3mga?
a) 10 b) 1000 c) 100 d) 10,000

One coin of Rs. 5 weigh 9 grams. Anu has a bag containing coins of Rs. 5. If that bag weighs 9 Kgs.
Then how many coins are there in that bag?

a) 10 b)1000 c)100 d)10,000

Ueh 99 dnell 72 & =ar demsr Srd 3. faar 391 Aeherar fohdr #Hex 3mg?
a) Qeherelm 10 F. b) Tsherer 20 A o) Asherel 30 A, d) Jeherar 60 Y.

A bus runs with the speed 72 Kms per hour. Find out its speed in meter
per second?

a) 10 m per second. b) 20 m per second
c) 30 m per second d) 60 m per second

( . )
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25)

26)

27)

28)

29)

275.0003 x 3.005 I=h FreRor R qd.

a) 835 b) 810 c) 830 d) 825
Find out the value of 275.0003 x 3.005.

a) 835 b) 810 c) 830 d) 825

e GO 3 T 3R

121 566 1022

131 566 2322

141 566 3622

a) 151 566 4922 b) 141 567 3922
c) 151 567 4622 d) 151566 4722

What will be the next number in the series?

121 566 1022

131 566 2322

141 566 3622

a) 151 566 4922 b) 141 567 3922
c) 151 567 4622 d) 151 566 4722

10.01 § TFharId 9 afgara ?

a) 10.01% b) 10% c) 1001% d) 100100%
How do you write 10.01 with symbol of percentage?
a) 10.01% b) 10% c) 1001% d) 100100%

Tahl %cl')lo-lc\l{lo-\l Tehtd JEdhT=aT 1000 gdY 9999 TUATAT fdehedr 30T Arer 899
TG BN ST, AL Uehl JEAHrE Hos b fohehr 2

a) 8.90 2. b) 9.10 2. c 9.20 %. d) 9.90 %.

A shopkeeper sold 1000 copies of the same book for Rs. 9999 and he  got Rs. 899 as the profit.
Then what will be the original price of the single book?

a) 8.90 %. b) 9.10 %. c) 9.20 =. d) 9.90 %.

CIHAGT Uehl FUATEX 2 UH AT =1 13200 &. Hegelr 2 Aigward bedrel faheil?
a) 44 %. b) 22 %. c) 264 %. d) 528 %.

What will be the simple interest of Rs. 13200 for 2 months at the rate of 2 paise for one rupee per
month?

a) Rs.44 b) Rs. 22 c) Rs. 264 d) Rs. 528




30)

Qlellel HTehclld YATdegredT SEf SIoTT HAfgaAr Ager?

A | Rew | vga
thslaRT A ?
A g | STaRy
a) STTaRY b) Tirer o) H d) SfeT
Which month will come at the place of question mark in the adjoining figure.
May Dec Feb
Feb March ?
March Sep Jan
a) Jan b) April C) May d) June
31) s & 1450 7 JATAT QMY ATl .
a) Hc &g b) aTShTT ¢) TIYTITAT d) Yed
.................. machine was invented in 1450 AD?
a) Cotton spinning b) steam engine
c) Printing d) Railway
32) GomEHET o, AT FHoldT 3dH AT 318,
a) FIIHAR b) FaUT HER
o) I HER d) TeTar TrerarsT
................... in Punjab is the best model of architectural art?
a) Kutub Minar b) Golden Temple
c) Sun Temple d) Palace of Thiba
33) 3ARSA gEAT AEYEUTAT AAL ... I SgIfaeets OMEied aroel?
a) STHaT b) SeTall c) STUTe d) g
At the end of the second world war America used atom bombs against ---------- nation?
a) Germany b) Italy c) Japan d) France
34) 1857 TIAT 3aMATAIR HARATAT woovvvvrcreereeen qaar Qige Srelr
a) ferérer b) ST
SRIGEIE] d) 3¥e sf3ar Fuaiar
.................... rule was ended in India after the uprising of 1857?
a) British b) French
c) Portuguese d) East India Company
35) Wrelerded IV Aol SISl TXHRA Gl dTel HRACAT §6 Sholl?

a) 1729

b) 1829

c) 1929

d) 1839

When did British Government ban the Sati system legally in India?

a) 1729

b) 1829

c) 1929

d) 1839




36) TS THTAT digedr ATAGAATT ETeT @reilel Uehl HIUT gla?

a) LG SleToil b) T o=t EgH

c) SAALTG Aol d) @Y. @I Ay

Who was the president of the first session of National Assembly?

a) Surendranath Banetji b) Sir Allan Hume

c) Byomeshchandra Banerji d) P.Ranga Nayadu
37) 3 d9ic I A QAT ITT FATTAT el

a) rereha b) HS o) f’eeelr d) TS

Anni Bezant founded Homrule League at ...............

a) Kolkata b) Mumbai c) Delhi d) Chennai
38) il ARATT 9UH JY FcITAE hell.

a) @T b) IRERT c) IIRUY d) Srefelr

In India Gandhi did his first Satyagraha at --------------- .

a) Kheda b) Chauri Chaura

¢) Champaranya d) Bardoli

39) ST fAasariaweyr IMefsliel HIoTeAT HRIETEIA JTEOT UV & hel.

a) olBR b) AXGST ¢) TRIHAT d) grer
Where did Gandhiji start death hunger strike against Caste Judgement?
a) Lahor b) Yervada c) Dharasana d) Dandi

40)  SieXeT AR AfTRALY fafeeniaeyr Semam Aded SO AFT ol FHel?

a) Oft JeadeAT b) TN IRTETS

c) TOM IMASTeTo] d) foar #Her

In Manipur which Naga Queen led the movement against British after Jadonang?
a) Rani Chennamma b) Rani Tarabai

c¢) Rani Gaidinalu d) Birsa Munda

41)  @rele 1 St feaeh dfdurs e dfaur«rar TR Her?

a) 26 AR 1950 b) 26 FegsX 1949
b) 15 3iferec 1947 d) 25 ST 1950
On which of the following day the constituent assembly accepted the constitution of India?
a) 26 January 1950 b) 26 November 1949
b) 15 August 1947 d) 25 January 1950
42) 39T SRATCHS Slehergr & GIRRATET UL 3B@ell SiTd.
a) remely NRGERIEG] ) TEGT d) TS
Democracy in our country is known as ................ democracy.
a) Presidential b) Controlled ¢) Parliamentary d) Military




43)

44)

45)

46)

47)

48)

49)

50)

olTgdTeh feaATeaT HEY TATTATT ATeAdGalT WlolleTehl hIuT THhRATT?
a) Isgadr b) TcTwEITe ¢) QeI d) AT ATEr

Who among the following accepts the salutation of chief parade
on the Republic Day?

a) President b) Prime Minister

c) Army Chief d) None of These

Grollerdehl hIUTAT AT ARCTATSl STFA 0T HIRAR T TihEdleArd Jaer
FIA?
a) SFEYAT b) f&EL c) e d) JHAT

Which of the following river enters in Pakistan through Jammu and Kashmir in India?

a) Brahamaputra  b) Sindhu ¢) Ganga d) Yamuna

qzmwmmmwwmm?

a) 29% b) 59% c) 71% d) 70%
How many parts of the earth is occupied by the sea?
a) 29% b) 59% c) 71% d) 70%
Grelledehl T T WiASTIGT FeIfATATd IR glar?

a) e b) IFEIETH ¢) IS d) STFATSE
From which of the following metal Aluminum is obtained?
a) Manganese b) Asbestos c) Chromite d) Bauxite
SETHTCITSl STUTCTET aToX hed TATcdrer AfOERoT A 3 AT
FOATT AU,

a) 3TUTTT 9eer b) 3TN TG

c) gRmom d) ATTe ueer
Using underground heat energy is produced at Manikaran in ----- state.

a) Arunachal Pradesh b) Uttar Pradesh

c) Hariyana d) Himachal Pradesh

TTolTTdhT HIUTT deral RN, Acidoelll, AU, 319 AT JTATAT e’ 30T
Jqgdld?

a) oT&TedIq b) 3GATT T ThlaR c) JMTAATT d) fAfAR=
On which of the following island Jarda, Sentinnellij, Shompen, onge tribes live in dense forest?
a) Lakshdweep b) Andaman and Nikobar

¢) Amindivi d) Minikoy

FITAGY SIETAT Wl @roledehl R JSATd 3Teadid?

a) TSTEUTA b) RATIST weer

¢) Pellch d) 3Tevcer

In which of the following state the marble stone mines found?
a) Rajastan b) Himachal Pradesh
c) Karnataka d) Andhra Pradesh

TroiTeTdehl HIUTAT TeTcllel BT & HRATS THAe she FgULT TAGH HTed?

( -
{7 )



a) AsTS, AN, IEHCISTE b) ST, BeTaTe, qoI
¢) HeIS, oIGeil, Fefehel d) feeeh, IHawR, SR

Which of the following groups of cities are known for the Indian Information Technology Centers?

a) Chennai, Nagpur, Ahmadabad b) Bangalore, Hyderabad,Pune

¢) Mumbai, Lakhanow, Kolkata d) Delhi, Amritsar, Jaipur

51) UoEUETAHST AR 3cHT § HIUTCAT AL IRV TR ?

a) ST b) TSR ¢) ST d) @rer
Rajasthan Desert Festival is the attraction of ............. City.
a) Jaipur b) Bikaner c) Jaisalmer d) Kota

52)  @roltel YT lfoicgel &1 ARASCYLT IETT HIUTAT ToATd ISR holl SATAT?
a) Fs b) Shailceh SREEIEC] d) Inar

Which of the following state celebrates the characteristic festival ‘Carnival’?
a) Kerala b) Karnataka ¢) Mijhoram d) Goa

53)  gavTadSRleT AT GehoUld @iellel YehT 0T TR HEIR TRUGY TS
HAEHARIA Sigell ST 3ed?
a) HYS, 3gACEE, feoel, dorehar
b) feeel, or@ett, IMefeerR, gear
o) feeel, HaS, doets, lerehan

o) ST, S, Rioeh, dewrare

Which of the following four cities are connected through four lane National Highway by the

‘Suvarnachatuscone’ Project?

a) Mumbai, Ahmadabad, Delhi, Kolkata
b) Delhi, Lakhanow, Ghandinagar, Patna
c) Delhi, Mumbai, Chennai, Kolkata

d) Bangalore, Mumbai, Delhi, Hyderabad

54) A oA Adad T STUATT A Wlelledehl hITeAT SiodTehgel el STTd?

a) W b) €I
c) Hg d) SeETsgTaT eRT
Which organ from the following constantly Circulates the blood in the body?
a) Lung b) Heart
¢) Brain d) Rib Cage
55)  orsforegt 3iSa 30T A foegy 3saeed FIvd Shiaaded 3186 JATONd
3rEd?
a) T Sfiaetdca b) o Sligerdca
) °r Sfaadca d) 31 Sfaeadca
Which vitamins are more in cod liver oil and Shark liver oil?
a) Vitamin A b) Vitamin B
¢) Vitamin C d) Vitamin D




56)  3fecleifciohedl GIATAIedT $IEITel HI FgOTATA?

a) dis b) ITTAHRT ¢) ST&T d) oIglel 3Tds
What is the initial part of the alimentary canal?
a) Mouth b) Oesaphagus ¢) Stomach d) Small intestine

57) e 7 SHURT sg g

a) TIPISS b) PIIRT ¢) Tt d) §IrguT
Odd man out.
a) Typhoid b) Cholera c) ltch d) Diarrhea
58) BT HeAAT NI, &7, TeHY T ... T GREIT A AT @3
FEULT o CIIdTd.
a) 39T WG b) TeRT
OELGIE) d) fgaara
Children are vaccinated to prevent themfrom polio, Tuberculosis,Ghatsurf and ----------- .
a) whooping cough b) Cholera
c) Joundice d) Maleria
59) HYEHS STl TEH HATAT G0 AT ?
a) fearfer gra=x b) GICRATH RHIAC
c) IAE d) &T.ESY
Wound of snakebite is washed with ---------- solution.
a) Bleaching Powder b) Potassium Permanganate
c) D.D.T d) B.C.G
60) &IHYY WHET ... K 11152 TR T eleT A fAoT 3Ed.

a) P SR3NFASS, ifaasd

NEUELE GRS NG

¢) ATICISTT, FId STTITFASS

d) 3TFgsie, ATIerT
Chiefly there is the mixture of ................. & o gases in the air.

a) Carbon Dioxide, Oxygen
b) Oxygen, Hydrogen
c) Nitrogen, Carbon Dioxide

d) Oxygen, Nitrogen

61)  wrchordiey sruehrr Tl s,

a) @S b) HITATAIH MGET] d) SIaTec
Select the non-magnetic substance from the following.
a) lron b) Aluminium c) Nickel d) Cobalt
62)  E@HATHTS! A 379IardT A HdTd.
a) PFHH b) T c) el ECISGICE]
Fish uses --------- organ for breathing.
a) Lung b) Skin c) Whiskers d) Windpipe

( o )
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63)

64)

65)

66)

67)

68)

69)

AfTH T FHefac FEoTdId.

a) U HIST b) TTOATAT HIST
c) |7 3T d) AlET &)
Sodium bicarbonate is called as...............

a) Washing Soda b) Eating Soda

c) SodaAsh d) Mohar Salt

IeTd  SHUIRT Qs ST,

SGIC] b) TTGT c) 3HS d) ATHISC
Odd man out.
a) Copper b) Silver ¢) Mica d) Graphite
SARITAATHT FHARAHD oo HREIGLE

a) AYAT b) HeIRET SKIENE) d) HERIaT
Which disease occur due to deficiency of insulin?

a) Diabetes b) Malaria c¢) Pandurog d) Gout

gcd § 3T GEAFUMY delolel 38, € HhoUsdl HIol Alsell?

a) dr.egr. 0T b) 3T. HTHT

¢) STId ARBIPR d) AgYT ot

Matter is made up of innumerable micro particles. Who put the concept?
a) C.V. Raman b) Dr. Bhabha

c) Jayant Narlikar d) Maharshi Kanad

TSCETSATCIT TIeT T HATT Uil 3?2

a) 37fgar b) 2Tl o) AT d) TImeT
White colour in the National Flag is the symbol of ----------- .

a) Non Violence b) Silence c) Bravery d) Sacrifice
@relleT YehT SHIUTAT ARATATS harMTAd TSR AT,

a) oI&Tedrd b) GHeT 3TTUT &9

RIERE IGIEICES

Which of the following is not an Union Territory?

a) Lakshadweep b) Daman and Div

c) Pondicherry d) Nagaland

TGIGUT BIUITT FHRUT HIUTA?

a) T 30T gaTRAT HEY TUg A,
b) AT 30T =g FrearHEY FF Al
c)@mmmﬁtﬁﬁaﬁ
d) arel Fd.

What is the cause of Lunar eclipse?

a) Moon comes between Earth and Sun.
b) Sun comes between Earth and Moon.
c) Earth comes between Sun and Moon.
d) All the Above.

10
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70) &= 3afFae 2012 ALY FHIUICAT AT FATUS Tgeh Toidhall?

a) I o b) AT

¢) Rufearsn i d) TgFd IS¢ FARHT

Which country won the highest number of awards in London Olympic 2012?
a) Great Britain b) China

c) Republican Korea d) United States of America

71)  FERTSER HEIAAT g BSUT Al HEIHAT YT AYY HIUTeT TSR0l

gdoll?
a) faars are DREIEEEC R
¢) TAWS T d) TAHTT

Where did the Maharashtra chief minister Devendra Fadanvis take an oath for
the post of chief minister?

a) Shivaji Park b) Legislature court

c) Wankede Stadium d) Rajbhavan

72) €I AGRISER ST WTeileTdhl 0T 3Ted?

a) . QTERARTIOT b) d1.facamdmR @
SEIGEIGIERIMES d) feoha a8 arérer
Who is the governer of Maharashtra State?

a) K. Shankarnarayan b) C. Vidyasagar Rao

c) Pratibhatai Patil d) Dilip Valase Patil

73) Asrrserear RAfYEsER Rared 39 FITer EIid gdd Sa?

a) qor b) HS ¢) AT d) 3iRaETeETE
Where is the winter session of Maharashtra Legislature held?
a) Pune b) Mumbai c) Nagpur d) Aurangabad

74) @A AGRISEICT HIUTCAT AT AL Tod & HI0AT el 3Tg?

a) H{S b) quY ¢) AT d) 3iRaTTsTE
Recently in which city of Maharashtra is metro train started?
a) Mumbai b) Pune c) Nagpur d) Aurangabad

75) U 3T ARATAT HEATTA STd?

a) Shehd e b) FehIaT SIENCER] d) 3feTféenr s
Which latitude goes through the center of India?
a) Tropic of Cancer b) Tropic of Capricorn
c) Equator d) Antarctic Line
76) 20 3R 2013 UsH esrear oo AR HETET ... AT FAT ST
a) g AT b) TG STHTETR
c) STET e d) I ATET.

......................... the president of Superstition Eradication Committee was murdered
on 20 August 20137

a) Narendra Modi b) Narendra Dabholkar

c) Baba Adahav d) None of the above

11
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77)

78)

79)

80)

81)

82)

83)

SerTelel el ARRIEeT dEdd g fafise wate “3maR 13”1 gar fGar
STar, af AT fordr 3ihr 3raar?
a) &gl b) 31T c) SRT d) oRT

Identity card and certain number through ‘Adhar Card’ is given to each of the citizen of the country.

How many digits are there in that number?
a) Ten b) Eleven c) Twelve d) Thirteen

HRATAT ASTRIST S AT IT SATSAT TSI AT Wlellerdeh! HIUTA?

a) T b) Sepleh c) HIEHT d) R

Which of the following is the capital city of Bhutan, the neighbouring country of India?
a) Rangun b) Bankok c) Kohima d) Thimpu
HEIT HARATS IURTSCUCT 10T 3HTgcd?

a) SL.EgHIG 3HeaRl b) . AFIARIIOT

¢) JoTd HGA d) &. IGHAT Tl

Who is the Vice President of India?

a) Dr. Hamid Ansari b) K. ShankarNarayan

¢) Pranav Mukharjee d) K. Rahman Khan

FTST TATSATAT IRETUT uaraaely fafaer ardi=m 313 FHRogrardr AgRISE
AT HIUTAT ATAAT AT la.

a) .U, 9Tdrer gfAdr b) [3.7. ciset Tfaar

¢) gYatisT qiirel AfAdT d) ARIIOT o7 FIA

Maharashtra Government had appointed a committee to study the various
aspects regarding the Maratha Reservation.What is the name of that committee?

a) J.A. Patil Committee b) V. M. Dandekar Committee

c) Harshwardhan Patil Committee d) Narayan Rane Committtee
HAER AT Al HERIA WIeTeTdeh ShIUTAT 2eg dAR glel AT8r?

a) T b) FEI SRSl d) dre

Greiel AeplaTad 9T Riegrear sl Jomdy gwar Aasr.

Find out the number in place of question mark.

2 6 7

11 ? 16

17 21 22

a) 14 b) 13 c)12 d) 15
79 : 63 : 42 : ?
a) 26 b) 13 c)8 d) 18

12
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84)

85)

86)

87)

88)

89)

IeTd d SHUIRT QUsc ST,

a)die b) AT o) e d) TR
Odd man out.
a) brick b) sand c) cement d) house

wrmﬁmgamwrmrqeraﬂ'g'amméatrrﬁemgamqw%ﬁarmwﬁr
dwgammmﬂmawmﬁag’%mmm?
a) A b) AT ) HET d) fearer

Ravi is cleverer than Ram but Ram is cleverer than Raju. Sandip is cleverer than
Ravi but Dinesh is cleverer than Sandip. Then who is the cleverest among them?
a) Ram b) Ravi c) Sandeep d) Dinesh

SN 3+3=2,18+6=6,30+5=12,d335+5=2,
If3+3=2,18+6=6,30+5=12,then35+5 =2,
a) 7 b) 10 c) 12 d) 14

XW, UT, RQ, ON, ?
a) MK b) KL o LK d) LM

o a1 Regrear Sl A9y 37877 Qe

Choose the correct letter at the place of *
B

a) T b) N c) P d) Q

SToedT 3Tl aRA fohcll 3Med?

How many squares are there in the adjoining figure?

a) 10 b) 14 c)16 d) 18

13

——
| —



90) HYR 51 U UGH ThT Chstallel Gaadlcl el T &R STl Yedeh Uraiay
foear FATRZTR ol STl AT fhcll Pl T AT ARTAT?

a) 1326 b) 1329 c) 1377 d) 1275

By climbing 51 steps Madhukar went to a temple on the hill. While climbing he put the flowers on
equal to the number of that step on each step. How many flowers did Madhukar take with him?

a) 1326 b) 1329 c) 1377 d) 1275

91)  Wrellel URAATT cliel YT 3Tehcdl f&eam T dILam 9T HThcAardr et g
feelel 3Mg. UfgeaT Gl Yl hcATHEY HIET HtT 3G, TRATTHRAT HEl TRaT
AT dIed T IR ALY Il IIigel. IR IMpcqAeeT R0 3TehcT eavem Sy

e Regrear el gar A .

ReT 3AThedT:
(u%o = (J-} o(‘%-)o( ? ]

3T 3T
e B IS B
‘4—, : o | . | o< >0 i l
.I .E]b io?-id - l.hi ,-j
S E— SR —— b

a) b) c) d)

In the following question the relation of the third figure with the fourth figure is the same as that of
first figure with the second. Therefore choose the correct alternative to place at question mark?
Question Fig.

|
i . .
| I - ; | _

Answer Fig.
I S RS B S RS
{ - , .
.' ﬂ.E]br} .' o?- : o< ¥ >0 l..,:%f :-JI
L * | o | = | < |
a) b) c) d)

[« )



92)

93)

94)

@rellel FReATcT JRaT 3MTehcird STl erafumRT Jvar 94y fayasr.
UR& 3Tcll

629

3dY 3TehcdT:

[

620 | €29 | 6359 | €30

a) b) c) d)
Find the water image for the question figure from the answer figures.
Question Figure

629

Answer Figure

620 | €20 | 639 | €39

a) b) c) d)
T o amTr?r 3T 3%5@ B
ﬂ(%:ll ~.-- —| ’ ;ﬁ\t@ﬂ ;ﬁﬁi
b) d)

Find the odd flgure out.

Kﬁe—nl e M| ’yﬁ\teﬂ ;ﬁﬁi

__‘_.__._.___.1..-.- S—

a) b) d)

Tl UATT UTgedT Glel USHey St §eY 3 aard ey faa=ar g aizar g
3. GATHYS IMbelel e AT s&eT carar g3y fasr.

In the following question the relation third term with fourth term is the same as that of
first term with the second. Choose the correct alternative to fourth term
LN:VX::Gl:?

a) PR b) QS c)OT d) NU
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95)  Wlellel YRl Teheidl RIRATCH TTHAT GLIUIRT 9IT fAasT.

URT 3Tl
|
S 3l
U S
a) b) C) d)

Find the mirror image for the question figure.
Question Figure

| ¢

Answer Figure

et | e

a) b) ) d)

96. WETolldl AT ICL3EIG] 3l IGCED

d)

Find out odd figure.

) d)

O

97) WIS 3Thclid Fepiomh Fear fhdr?

How many triangles are there in the adjoining figure?
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98.

99.

a) 8 b) 18 c) 26 d) 30

Grellel TRaATcTel 31qUT UR&T 3MTehcll YT SUIE TTTciel 3Tehell fo¥asT,
RaT 3Tehcll

= | &[] e

a) b) c) d)

Select the correct option figure form the following options to complete the question figure.

Question Figure

By
| & ] [ ] 8

a) b) c) d)
ST PANT = 51, CAP = 20 @ I qafll?ﬁﬁ SHIRT= ferdT?
a) 62 b) 64 c) 72 d) 74
If PANT=51 , CAP=20then SHIRT="?
a) 62 b) 64 c) 72 d) 74
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100.  SR&T 3MTehcIell Tl S[BUTRT 3MTehcll TATATCT QATe.
R& el

===

Find out an exact similar figure to the given question figure from the options.
Question Figure

Answer Figure

il ===
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Rough Use....
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Rough Use....
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